2000

4.00

1.050

3.60

ol L L B BN 40T~ T T T T T T T T T T 10 T L A B
FHF #;L"%‘Ei#«}ﬁ‘ ‘ e i‘,r'ﬁFﬁ(—‘ﬂE' B r i ]
‘ TR -] n ] i
75— ' ' : bl F 1 7‘ 4
ARBY 4 A ARA i ] y
PETBLARRAR, ¢ pABBSSE] s 1 8 SR 1
| Akﬁ,r;;,, AP oA r ] ;X/zﬁ ]
or ARER F ] i 1 A
g ! ! D I ] 1
g L ]
£ : : D] r ] ]
£ ‘ ‘ T [
x ST ‘ N 1 4 s b
= 1 ! Do 5 ]
Fod ' 8 t ]
10 & 200000 . o &2 3 r 1 1
69880, 95, 36888 i ] s |
: CEQ ol Y . [ 1
S S [ 1 1
15k SR b [ ]
QQ@@@?O 1 [ ] ]
<‘><><> — L i 4
o) E N N B S B R B 0. e ] 2 - T
0.0 0.2 0.4 0.6 0.8 1.0 0.5 1.0 2.0 2.5 3.0 10 15 20 25
—_ phose ¢y,
; T
N
o
=
T
°
o
2
o
b
2
8
=
o ‘
o
w
~
£
=
z\
0
o
2
8 10
o
= X X X X |
1.0 ‘ ‘ ‘ ‘ ‘
o
¢ 08—
£ 08—
S =
c 06—
.9 —
5 o4
[0 —
2 B
S 02
o —
0.0 ‘ ‘ ‘ ‘ ‘
9} 50 100 150 200 250
time [yr]
,85: T % T : T :\ \92.\34\ T T T ) T : 4)(10*5; T T T T T \E
[ ' w = 1 - E E
sof  a & & 15, F E
SRS {230 1 T 2600 K
@ -75F B R Bl E E
E re P e 1 2 2x10° E g L 4.00 Lo
F B B B B 0 E ]
¥ -7.0F " og DD‘DDD 14 8 E 3 Mass 1.50 MQ
r : o 1 £ E
L . . 1 8 1x107°F 3 _
-65F 3%‘ ° :TE, E E E E ‘g(c O) 8.80
A ] ] .1 C/0 2.38
-6.0 L L L L L L L L L L L L L (o) = L L L L L s
L e S S e S e = 3 = T T T T T ™ AU 6 km/s
E oL aa7 E E E P /
E . . L8 . E E If 2.0
-3E ° ‘ : — F E .
Eoon o2 & 0 ] Teop 3t
= 2F 1300 en & 1 = ¢ i class wn
<] E ' oo o ' El > = 3
E a5 "lgo, E g 20F E
S -1E D os et 3 0T f 1 Mdot 11.50 + 6.94 -107° Mg/yr
E L% oo o E g job E T 27.90 £ 2.10 km/s
E E| o 10[ =
oF L m @ E o 1 foons 0.500 + 0.070
“ g 1 po/p,  28.05-107
1E L L L L L L L L L L L L L 3 | L n n n n s Peﬁod 525 d = "437 y’r
T T . 0BF : : : : ™ Radius 504 R,
i L 959 : ] I 1 1ogg -079
o B 56.40 1 e L 1AM 1.365
r N o . ] © 0.6 — ool
‘ ‘ ‘ ‘ 5 L j
= 12F - o 1 ] s ]
gt oo 505 ! ' ] 8 oul 1 Colour mean / min / max / range
£ o ol ! 1 5% 1 (B-v) 6.05" 482" 7.34 252
> 14 °° L, o ; 4 2 1 1 (v=1)) 813 6.64 9.80 3.16
[ CoB g . ] ° r J V—K 19.89 16.53 24.09 7.56
N L g . : B g 02r 1 (J-H 308 265 369 1.04
F . RN . 1 L | J—K 542 467 650 1.83
F . og ' ' ] t R H-K) 2.34 2.00 2.81 0.81
1804 Pl L P L ] 0.0t . . . . . =
212 217 235 240 215 220 225 230 235 240
time [yr] time [yr]



Note: Time increases downwards. Scales OK for last curve (bottom black)
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